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NEW QUESTION 1
Which one of the following code examples uses valid Java syntax?

A‘
public class Boat {

public static void main (String [] args) {
System.out.println ("L f£loar.™):

}

B'I'
public class Cake {
public static void main (Straing [] ) {
System.out.println (“*Chocolate”) ;

¥

.
public class Dog {
public void main (String [] args) {
System.ocut.println (“Squirrel.”):;
}

D.
public class Bank {
public static void main (String () args) {
System.out.println (“Earn interest.”):;
¥

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 2
Given the code fragment:

public static void main(String[] args) {
int ans;

try {
int num = 10;
int-diw= 0;
ans = num / div;
} catch (ArithmeticException ae) {
ans = 0; S/ line nl

} catch (Exception e) {
System.out.println("Invalid calculation");

}

System.out.println("Answer = "™ 4+ ans); // line n2

}

What is the result?

A. Answer =0

B. Invalid calculation

C. Compilation fails only at line n1.

D. Compilation fails only at line n2.

E. Compilation fails at line n1 and line2.
Answer: C

Explanation:
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public class Test {
public static void main{String[] args) {

int ans;
try {
int pum = 10;
int div = 0;
ans = num / diwv;
} catch (ArithmeticException ae) {
ans = 0

} catch (Exception e} {

Svatem. out. nrintlnf"Tnwalid caleulation”);

[@variable ans might not have been initialized
(] System.out.println{"Answer i
1

NEW QUESTION 3

You are asked to create a method that accepts an array of integers and returns the highest value from that array.

Given the code fragment:
class Test{

+ ans): /f/line nZ

public static void main(String[] args) {

int numbers[] = {12, 13, 42,

32, 15, 156, 23, 51,

int[] keys = findMax (numbers);

/* line nl */ {
int[] keys = new int([3]:;
/* code goes here*/
return keys;

}

Which method signature do you use at line n1?

A. public int findMax (int[] numbers)
B. static int[] findMax (int[] max)

C. static int findMax (int[] numbers)
D. final int findMax (int[] )

Answer: C

NEW QUESTION 4
Given the content of three files:

A.java:

public class A {
public wvoid af() {}
int a;

B.java:

public class B |
private int doStuff () {
private int =® = 100;
return =+t++;

C.java:

import java.io.*;
package pl;
class A |
public woid main(String fileName)

}

Which statement is true?
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A. Only the A.Java file compiles successfully.
B. Only the B.java file compiles successfully.
C. Only the C.java file compiles successfully.
D. The A.Java and B.java files compile successfully.
E. The B.java and C.java files compile successfully.
F. The A.Java and C.java files compile successfully.

Answer: A

NEW QUESTION 5
Given the following classes:

public class Emplovee |
public int salary;

public class Manager extends Employee |
public int budget;

public class Director eXtends Manager
public int stockOptions;

And given the following main method:

public static void main(String([] args) {
Employee employee = new Emplovee ()

Manager manager = new Manager/():;
Director director = new Director();
//line nl

}
Which two options fail to compile when placed at line n1 of the main method? (Choose two.)

A. employee.salary = 50_000;

B. director.salary = 80_000;

C. employee.budget = 200_000;
D. manager.budget =1_000_000;
E. manager.stockOption = 500;

F. director.stockOptions = 1_000;

Answer: CE

NEW QUESTION 6
You are asked to develop a program for a shopping application, and you are given this information:

> The application must contain the classes Toy, EduToy, and ConsToy. The Toy class is the superclass of the other two classes.
> The int calculatePrice (Toy t) method calculates the price of a toy.

> The void printToy (Toy t) method prints the details of a toy.
Which definition of the Toy class adds a valid layer of abstraction to the class hierarchy?
A
public abstract class Toy{
public abstract int calculatePrice (Toy t);
publie wvold printTey(Toy t) | /* code goes here */ }

public abstract class Toy |
public int calculatePrice (Toy t)
public wveid peintToy (Toy t)

public abstract class Toy |
public int calculatePrice (Toy t);
public final veid printToy (Tov t){ /* code goes here */ |}

public abstract class Toy {
public abstract int calculatePrice(Toy t) { /* code goes here */ 3
public absztract weid printTey(Tey t) { /* code goes here =/ )
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A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 7
Given the code fragment:

public static wvoid main (String[] args) {
String[] arr = (“Hi"”, “How"”, “are”, “You");
List<8tring>» arrlList = new ArrayList<> (Arrays.asli=st (arr);
if (arrList.removeIf((String =) -> (return s.length(}) <= 2;})) {

System.cut.printlni=z + “removed™)”’

}

What is the result?

A. Compilation fails.

B. Hi removed

C. An UnsupportedOperationException is thrown at runtime.
D. The program compiles, but it prints nothing.

Answer: A

NEW QUESTION 8
Given the definitions of the MyString class and the Test class:
package pl:
class MyString {
String msg:;
MyString (String msg) {
this.msg = msqg:

}
}
Test.java:
package pl:;
public class Test {
public static void main(String[] args) {
System.out.println("Hello " + new StringBuilder("Java SE 8")):
System.out.println("Hello " + new MyString("Java SE 8") .msqg):;
}
}
What is the result?
A
Hello Jawva BE B8
Hello Jawva 2E 8
B
Hello java.lang. 8tringBullder@<<hashcodel>>
Hello pl.MyString@<<hashcodel>>
C

Hello Java BE 8
Hello pl.MyStringl«<<hashcoder>

D Compilation fails at the Test class

A. Option A
B. Option B
C. Option C
D. Option D
E. Option E

Answer: D
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NEW QUESTION 9
Given the code fragment:

.plusDays (30);:

dt
dt. plusMonths (1):

System.out.print (dt forma

What is the result?

A. An exception is thrown at runtim
B. 07-31-2014
C. 2014-07-31
D. 2014-09-30

Answer: A

NEW QUESTION 10
Given the code fragment:

public static void main(String[] args) {
int data[]l] = {2010,

int key = 2014;
int count = 0;
for (int =: data)
if (e != key)
continue;
count++;

}
}

System.out.print (count +

)
What is the result?

A. Compilation fails.
B. 0 Found
C. 1 Found
D. 3 Found

Answer: A

NEW QUESTION 10

2014,

ocalDate Time dt= LocalDateTime.of

(DateTime

Found™) ;

Which two are benefits of polymorphism? (Choose two.)

A. Faster code at runtime

B. More efficient code at runtime
C. More dynamic code at runtime
D. More flexible and reusable code

E. Code that is protected from extension by other classes

Answer: BD

NEW QUESTION 15
Given:
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class A |
publ void test () |

ic
System.out.printlin (“A"):

L—

class B extends A {
public void test ()
System.out.println (“B"):
1
I
public class C extends A |
public void test () {
System.out.println (“C"):

public static void main (String [] args)
A bl = new A ()
AL2 =new €C ();
bl = (A) bZ: //1line nl
A b3 = (B) b2:; f/line n2
bl.test {}:
b3.test ()

}
What is the result?
A. AB
B. AC
C.CC

D. A ClassCastException is thrown only at line n1.
E. A ClassCastException is thrown only at line n2.

Answer: B

NEW QUESTION 20
Given the code fragment:

public static veoid main(String[] args) {

ArrayList<Integer> points = new ArrayList<>():

points.add(l)
points.add(2)
points.add(3)
points.add(4):

points.add(null):

" -

-

points.remove(1l):
points.remove(null);
System.out.println(points);

}
What is the result?

A. A NullPointerException is thrown at runtim
B.[1, 2, 4]

C.[1, 2,4, null]

D. [1, 3, 4, null]

E.[1, 3, 4]

F. Compilation fails.

Answer: B

NEW QUESTION 22
Given the code fragment:
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(1 = $41, 3}, dd, 1 k¥
for {(int i = n.length-1; 1 >= 0; 1——} {
For: fant y 2 nlaly o
System.out.print (vy);

What is the result?

A. 1324
B. 2313
C. 3142
D. 4231

Answer: D

NEW QUESTION 23
Given:
class Patient |{
String name;
public Patient (String name) {
this.name = name;

[—

And the code fragment:

8. public class Test {

g. public static void main (String [] args) |
10 List ps = new Arraylist ():

11. Patient p2 = new Patient (“Mike):

i 7.8 ps.add(p2) ;

13.

14, // insert code here

15.

16. if (£ >= 0) {

1V System.out.print (“Mike Found”):
18. }

19. }

20. }

Which code fragment, when inserted at line 14, enables the code to print Mike Found?

A
int £ = ps.index0f (pZ);
B
int f = ps.indexCf (Patient (“Mike”)} )
C
int £ = pe.index0f (new Patient “Mike") };
D
Patient p = new Patient ("Mike");
int £ = ps.index0f (p)
A. Option A
B. Option B
C. Option C
D. Option D
Answer: A

The Leader of IT Certification visit - https://www.certleader.com



CertLeader® 100% Valid and Newest Version 1z0-808 Questions & Answers shared by Certleader

Toader of IT Cortifications https://www.certleader.com/1z0-808-dumps.html (156 Q&AS)

NEW QUESTION 28
Given:

class HoO
SE Sl ANt .
st
public static void maini(Stringl[] args) |
¥ o2l = new ¥{);
¥ HZ = new X ():

®lier= B

xl.] = 4;

%2.1.°= 53

®2.] = 6;

System.out.println
-6 A I (L
ST
Hewdwak "
o RMn B

}

What is the result?

A.3456
B.3436
C.5456
D.3646

Answer: C

NEW QUESTION 33
Which is true about the switch statement?

A. Its expression can evaluate to a collection of values.

B. The break statement, at the end of each case block, is optional.
C. Its case label literals can be changed at runtime.

D. It must contain the default section.

Answer: B

NEW QUESTION 38
Given the code fragment:
public static void main(String[] args) |
Locallate date = Locallate.of (2012, 01, 22);
dates.plusDays (10) ;
System.out.printlndate) ;

}

What is the result?

A. 2012-02-10

B. 2012-02-11

C. Compilation fails

D. A DateTimeException is thrown at runtime.

Answer: D

NEW QUESTION 41
Given the code fragment:

7. BStringBuilder sbl = new StringBuilder ("Duke");
d. String =trl = skl.toltring();

9. J/ insert code here

1n0. System.out.print (strl == strz) ;

Which code fragment, when inserted at line 9, enables the code to print true?
A. String str2 = strl;

B. String str2 = new String(strl);

C. String str2 = sb1. toString();

D. String str2 = "Duke";

Answer: A

NEW QUESTION 43
Given the code snippet from a compiled Java source file:
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public cla=zs MyFile

{

public static void main (String[] args)

{
String
String
String

Syatem.

}

argl = args[1l];
argZ = args[Z];
arg? = args[3];
cut.println(“arg is “ + arg3);

Which command-line arguments should you pass to the program to obtain the following output? Arg is 2

A. java MyFile 1322
B. java MyFile 2 2 2
C.javaMyFile12234
D.java MyFile0123

Answer: A

NEW QUESTION 48
Given:

class Test |
int al:

public static wvoid doProduct (int a) {

d = a

- a;

public static void doString(String s) {
s.concat (" " + s);

}

public static void main(String[] args) {
Test item = new Test ()
item.al = 11;
String sb = "Hello":;
Integer 1 = 10;

doProduct (1) ;

doString(sb);

doProduct (1tem.al) ;

System.out.praintln(z + " " + sb + " " + 1tem.al):

}

What is the result?

A. 10 Hello Hello 11
B. 10 Hello Hello 121
C. 100 Hello 121

D. 100 Hello Hello 121
E. 10 Hello 11

Answer: E

NEW QUESTION 51
Given:
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class Test {
public static
int numb
numbers
numbers
numbers

numbers
numbers

numbers
for (int

volid
ers |
= new

[0] =
[

[ =
X

main (String [] args) {
I

int [2];

10;

20;

int [4];
30;

40;

numbers) |

System.out.print (“ ” + x) :

[—

What is the result?

A. 1020 3040

B.00 3040

C. Compilation fails.

D. An exception is thrown at runtime.

Answer: C

NEW QUESTION 54
Given the code fragment:

int wd = 0;

String days[] = ("sun",
for (String s:days) |
awiteh (s) {
case "“sat®:
case “=un":

wd -= 1:
break
case “mon®
wd++;
case “wed":
wd += 2;

}
System.out.println(wd) ;

What is the result?

"_‘-bw

. Compilation fails.

Answer: A

NEW QUESTION 56
Given:
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class Student |
String name;
public Student (String name) {

this.name = name;

public clas=ss Test |
public static void main(String[] args) |
Student [] =tudsnts = new Student[3]:
students[1l] = new Student (“Richard”™);
studentza[Z2] = new Student (“"Donald®™) ;
for (Studsnt = : atudents) |

System.cut.println (™" + =.name);

}

What is the result?

A. nullRichardDonald

B. RichardDonald

C. Compilation fails.

D. An ArraylndexOutOfBoundsException is thrown at runtime.
E. A NullPointerException is thrown at runtime.

Answer: E

NEW QUESTION 59
Which statement is true about the switch statement?

A. It must contain the default section.

B. The break statement, at the end of each case block, is optional.
C. Its case label literals can be changed at runtime.

D. Its expression must evaluate to a collection of values.

Answer: B

NEW QUESTION 63
Given:

r

class Caller
private void init () {

System.out.println(“Initialized”);

private void start () {
init () ;
System.out.println (“Started”) ;

}

public class TestCall {
public static void main(Stringl] args)
Caller o — new Caller{):
c.start () ;
c.init () ;

What is the result?

A. An exception is thrown at runtime.
B. InitializedStartedInitialized

C. InitializedStarted

D. Compilation fails.

Answer: D

NEW QUESTION 64
Given the code fragment:
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3. public static wvoid main(sString[] args) {
4 int x = 6;

5 while (isaAwailable(®)} {

6. System.out.print (x);

7

8 }

9. 1
10.
11. public static boolean isAvailable{int =) {
12 return ——x > 0 2 true :| false;
13. 1}

Which modification enables the code to print 543217

A. Replace line 6 with System.out.print (--x);

B. At line 7, insert X --;

C. Replace line 5 with while (is Available(--x)) {

D. Replace line 12 with return (x > 0) ? false : true;

Answer: C

NEW QUESTION 69
Which statement best describes encapsulation?

A. Encapsulation ensures that classes can be designed so that only certain fields and methods of an object are accessible from other objects.

B. Encapsulation ensures that classes can be designed so that their methods are inheritable.

C. Encapsulation ensures that classes can be designed with some fields and methods declared as abstract.

D. Encapsulation ensures that classes can be designed so that if a method has an argument MyType X, any subclass of MyType can be passed to that method.

Answer: A

NEW QUESTION 73
Which three statements describe the object-oriented features of the Java language? (Choose three.)

A. Objects cannot be reused.

B. A subclass must override the methods from a superclass.
C. Objects can share behaviors with other objects.

D. A package must contain a main class.

E. Object is the root class of all other objects.

F. A main method must be declared in every class.

Answer: BCF

NEW QUESTION 78

Given the code fragment:
String[] strs = {"A"™, "B"}:
int idx = 0;
for (String s : strs)

strs[idx] .concat (" element " + idx);
idx++;

}

for (idx = 0; idx < strs.length; idx++)
System.out.println(strs[idx]);

}

What is the result?

A. AB

B. A element OB element 1

C. A NullPointerException is thrown at runtime.
D.AOB1

Answer: C

NEW QUESTION 80
Given:
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claszs Wehicle |
int
ehicle ()4
thig (100 ; // line nl
i
Wehicle (int =)
thi=s.x = =

}

cla=s=s Car extends vVehicle |
int ¥v;
Car () f
superil;
thisg (207 ; 4 line nZ
i
Car (int vl |
thi=s.yv = v;
i
public 3tring to Stringl) |
return super.x + ":" + this.vy;

H
And given the code fragment;
And given the code fragment:

Wehicle v = new Car () ;
Syvstem.out.println(v);

What is the result?

A.10:20

B. 0:20

C. Compilation fails at line n1
D. Compilation fails at line n2

Answer: D

NEW QUESTION 82
Given the code fragment:
if {avar++ < 100 ¢
System.out.printlniavar + "™ Hello Universel™);
}oelze
System.out.printlniavar + " Helloc Worldl™);:
1

What is the result if the integer avar is 9?

A. Compilation fails.
B. 10 Hello Universe!
C. 10 Hello World!
D. 9 Hello World!

Answer: B

NEW QUESTION 84
Given the code fragment:

public static veoild main{Stringl[] args)

int[][] arr = new int [2] [4]:
a2rr[J] = new int [141, 3, 5, 71:
arr[l] = new int []141, 3}:
for (int[] a arr)

for (int 1 : a)

System.out.print(i+ ™ “);
}

System.out.printlni);

}

What is the result?
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A Compilation fails.

B
1l 3
1 3
C
1 3
followed by an ArrayIndexOutOfBoundsException
1]
13
1 300
E
1 357
1 3
A. Option A
B. Option B
C. Option C
D. Option D
E. Option E
Answer: E
Explanation:
TOUr :_, B
i- 155 MyClass {
2~ public static void main (5tring [0 orgs) {
3 it [10] are =new int [2] [4];
4 arr[8] = new int [J {1, 3, 5, 7}
3 gre[1] = new int O {1, 3}
e for (int [0 a : are) {
7- for (int 1 : a) {
g Svstem,out.print(is * °);
9 b
18 System.out.println ();
12 ¥
153
14
nal Libraries O Add External Librory (f
Lonm re Argumernt
Tk § mod m

Dsesl i
NESULE . .

NEW QUESTION 85

Which three statements are true about the structure of a Java class? (Choose three.)

A. A class cannot have the same name as its field.
B. A public class must have a main method.
C. A class can have final static methods.

D. A class can have overloaded private constructors.

E. Fields need to be initialized

F. Methods and fields are optional components of a class.
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Answer: BDE

NEW QUESTION 90
Given:

public cla=zs Zpp |
public static void main(String[] args) {
int 1 = 10;
int 3 = Z0;
int k =(3 += 1}/ 5;
System.ocut.print{i + ™ : ™ + 5 4+ ™ M + Kk},

1
What is the result?
A.10:30:6
B.10:22:22
C.10:22:20
D.10:22:6

Answer: A

NEW QUESTION 95
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